Gi=lasEl  DOUBLE SWING CLAMPS <TYPE 5>

WK B RIEE KB KSE

o4
X
£
R I
i TR PUR JE Sk SEY
E RN R AR RELE
o REREFR K 545C #AXHRC30 | ZBAE
% B S45C #AHRC30 | ZE4E
B BB R I S 3 425 B
i_ﬂ FHER R MAbE FELE
FHSA | S45C #AHRC30 | ZB|ALE
W&
950197 |SD-04035A| M 6x1.0 SD-16 SH-04035B 16 35 - 42 3 1.6 0.2
950198 |SD-06045A| M 8x1.25: SD-18 SH-06045B 18 44 - 53 8 2.2 0.2
950199 |SD-06050A|M 8x1.25: SD-18 SH-06053B 18 52 - 61 8 2.2 0.2
950200 |SD-08050A|M 8x1.25: SD-23 SH-08050A 20 50 - 60 15 3.6 0.3
950201 |SD-08060A| M 8x1.25.  SD-23 SH-08060A 20 60 - 70 15 3.6 0.3
950202 |SD-08070A| M 8x1.25: SD-23 SH-08070A 20 70 - 80 15 3.6 0.3
926782 |SD-12090A|M12x1.75.  SD-35 SH-12090A 36 92.5-106.5 40 6 0.7
- 926783 |SD-12105A| M12%x1.75  SD-35 SH-12105A 36 107.5-121.5 40 6 0.8
926784 |SD-12120A| M12x1.75 SD-35 SH-12120A 36 122.5-136.5 40 6 0.9
"""""""""" 926785 |SD-12135A| M12x1.75 SD-35 SH-12135A 36 137.5-151.5 40 6 1.0
WEAE 926786 |SD-12150A|M12X1.75: SD-35 SH-12150A 36 152.5-166.5 40 6 1.1
------------------- 926787 | SD-12090B | M16X2 SD-35 SH-12090B 36 92.5-106.5 40 6 0.7
HETEOH 926788 |SD-12105B | M16X2 SD-35 SH-12105B 36 107.5-121.5 40 6 0.8
926789 |SD-12120B | M16X2 SD-35 SH-12120B 36 122.5-136.5 40 6 0.9
926790 |SD-12135B | M16X2 SD-35 SH-12135B 36 137.5-151.5 40 6 1.0
926791 | SD-12150B | M16X2 SD-35 SH-12150B 36 152.5-166.5 40 6 1.1
P 926792 |SD-16090B | M16X2 SD-50 SH-16090B 50 92.5-106.5 60 6.5 1.3
926793 |SD-16105B | M16X2 SD-50 SH-16105B 50 107.5-121.5 60 6.5 1.4
"""""""""" 926794 |SD-16120B | M16X2 SD-50 SH-16120B 50 122.5-136.5 60 6.5 1.6
LT 926795 | SD-16135B | M16X2 SD-50 SH-161358B 50 137.5-151.5 60 6.5 1.7
------------------- 926796 |SD-16150B | M16X2 SD-50 SH-16150B 50 152.5-166.5 60 6.5 1.9
EANXEH
o B SIS
PE R R Bk
___________________ TR,
. @ | B E i E LS
) ® @ | BEREE K 4eSH
FEaE. WER
AR O
HLITE#H
%3]

http://www.nabeya.co.jp



W AME RS ) ~ i
HEOD S E=CEDE
SD-08XXXA A SD-16XXXB A
. L
w w
D
w w
[ [
; i ) ]
N
o )\
Lol
RS A B C D E [F G H | i (F85F) K
SD-04035A | 32 = 12 7 7 7 35 - 42 13 13 15 M 6x1.0 3
SD-06045A | 36 @ 16 9 8 9 44 - 53 15 16 = 18 M 8x125 5
SD-06050A | 36 = 16 9 8 9 52 - 61 15 16 18 M 8x125 5
SD-08050A | 40 = 20 12 7 10 50 - 60 15 18 21 M 8x125 6
SD-08060A 40 20 12 7 10 60 - 70 15 18 21 M 8x125 6
SD-08070A | 40 = 20 12 7 10 70 - 80 15 18 21 M 8x125 6
SD-12090A 72 32 22 19 19 92.5-106.5 25 27 32 M12X1.75: 19
SD-12105A 72 32 22 19 19 107.5-121.5 25 27 32 M12X1.75: 19
SD-12120A | 72 = 32 = 22 19 19 1225-1365 = 25 27 32 MI2x1.75 19
SD-12135A | 72 32 = 22 19 19 13751515 25 = 27 32 MI2x1.75 19
SD-12150A 72 32 22 19 19 152.5-166.5 25 27 32 M12X1.75: 19
SD-12090B 72 32 22 19 19 92.5-106.5 25 27 32 M16X2 19
SD-12105B 72 32 22 19 19 10751215 = 25 = 27 32 MI6x2 19
SD-12120B 7232 22 19 19 12251365 25 = 27 = 32 MI16X2 19
SD-12135B 72 32 22 19 19 137.5-151.5 25 27 32 M16X2 19
SD-12150B 72 32 22 19 19 152.5-166.5 25 27 32 M16X2 19
SD-16090B | 100 = 38 = 22 19 22 9251065 25 . 36 = 40 MI16X2 24
SD-16105B | 100 = 38 = 22 19 22 1075-1215 © 25 36 40 MI16x2 24
SD-16120B 100 38 22 19 22 122.5-136.5 25 36 40 S M16X2 24
SD-16135B 100 38 22 19 22 137.5-151.5 25 36 40 T M16X2 24
SD-16150B | 100 = 38 = 22 19 22 1525-1665 = 25 = 36 40 M16x2 24
HiEEEm
HFANEERE, BENRELMHETRE,
ERERTE.
BEEIHNER,
ERE B ERE
SD-04035A 2
SD-06XXXA 1
SD-08XXXA 1.5
SD-12XXXA 1.5
SD-12XXXB 1.5
SD-16XXXB 2.5

AIEER THCADHIE. HITEFEIMA.

o
B&
E

6 S

R PR

BT O

KT RFHMY



